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Mecânica	
  dos	
  Sólidos	
  –	
  Elas;cidade	
  Linear	
  

Equilíbrio	
  

Compa,bilidade	
  Geométrica	
  –	
  Geometria	
  da	
  Deformação	
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Problema	
  Linear	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  “Princípio	
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Exercício	
  5.1	
  -­‐	
  	
  An	
  Introduc;on	
  to	
  the	
  Mechanics	
  of	
  Solids	
  

Exemplo	
  –	
  Elas;cidade	
  3D	
  





Tensões	
  Térmicas	
  

εxx = 1
E
σ xx −ν σ yy +σ zz( )[ ] +αΔT

L	
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Comportamento	
  Inelás;co	
  :	
  
Plas;cidade	
  Ideal	
  

 σ	
  

ϵ	
  

σy	
  
	
  

ϵp	
  
	
  

Descarregamento	
  Elás;co	
  
Hibeller.	
  Resistência	
  dos	
  Materiais	
  



Exemplo	
  :	
  Tensões	
  Elasto-­‐plás;cas	
  e	
  residuais	
  
(prof.	
  Lavinia	
  Borges)	
  

Treliça elasto plástica

Comportamento elastoplástico

L
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Material :Elástico linear, idealmente plástico
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Solução Elástica
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